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(1)2CBO = 40° 0|11, /BOC = 90° ©| B &,
/BCO =50°, /x = 2/BCO °| 22

o Lx = 100°
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25. ©h& 199 AFZE ABCD ©fl4l AD //BC ], aAABC ©] Hel7}
15ecm? 9 W, ADBC ©] B o] & Fstoizt.
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E
B > C
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AABC 9} ADBC 94 BC = 595}3L AD |4 BC 714 9]
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26. tha ™A 1/ m oItk 13 m AFe] 9] A= 15¢m, BC = 16cm
o o, AABC, aA’BC, AA”BC 9] Blo]9] H]=?
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@1:1:1 @ 1:2:1 ®1:2:3
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~&B

Al o] A7kge] W, olo] Zolz} gong
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AABC = AA’'BC = AA”BC = - x 16 x 15
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A7+g 0 W o] Aot ol7t Fovg
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AABP = AAQD = %DABCD

1
=1 16 = 4( cm?)

APCQ = éDABCD = é X 16 = 2(cm?)

.. AAPQ
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LEp ozt

A E F G D

A E F G D

919 17} o] HAE oW
ODABHE = AABH + AAHE
1 1
= -AABC + -aAACD

1 1 1
= =X §|:|ABCD 4= 4_1 X §DABCD

oEHIF = AEHI + AEIF
1 1
= —AABC + —aAACD

1 1 1
= - x —OABCD + - x —O0ABCD
3><2|:| C +4X2E] C

7
= ﬂDABCD

oFICG = AFIC + AFCG
= 1AABC + 1AACD

i1

1 1
= — x —JABCD + - x —-oABCD
37><2D C +4><2|:| C
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= - X %DABCD
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24 24724 8
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